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SREE g it g | BREE g i 3
If=}] 1,242 1,067 2,309 | &)1 1,587 1,820 3,407
a2 1,601 2,013 3614 |&JII2 1,208 1,347 2,555
A3 679 852 1631 |% JIl & 2,795 3,167 5,962
a4 1,627 1,964 3,591 |{& L 1,091 1,244 2,335
A5 1,229 1,410 2639 HE LU Ef 1,091 1,244 2,335
iT=[5 1,184 1,321 2505 |1lL O Et| 53863| 60,603 114,466
a7 1,262 1,362 2,624 |/NER 1,268 1,465 2,733
has 1,824 2,106 3,930 |/hEf2 1,074 1,171 2,245
a9 1,820 2,194 4,014 |/NER3 955 1,100 2,055
i B 5| 12468| 14289 | 26,757 |/MER4 1,472 1,554 3,026
—1&1 58 70 128 |/NEB5 1,430 1,485 2,915
{Z1&2 891 929 1,820 |/MER6 2,175 2,048 4,223
{Z1&3 31 32 63 |/NER7 1,779 1,921 3,700
- & & 980 1,031 2011 |/h B FH 10153| 10744 20,897
N 1,623 1,760 3,383 |FkEE1 1,010 1,105 2,115
INMiE2 56 69 125 |FLFE2 1,496 1,698 3,194
h BE R 1,679 1,829 3,508 |Fx & &t 2,506 2,803 5,309
KA1 1,895 2,107 4,002 |BaT%&0ZE1 1,005 1,111 2,116
KHN2 1,759 1,987 3,746 |P%1ZE2 1,735 1,944 3,679
KNN3 2,951 3,355 6,306 |FA%1ZE3 839 993 1,832
KR4 1,584 1,835 3,419 |BAT £0 78 &t 3,579 4,048 7,627
XA5 1,040 1,104 2,144 |{E#h1 109 141 250
A A & 9229 10388 | 19,617 |{E#n2 440 529 969
= 51 470 535 1,005 |fEh 3 607 681 1,288
=E2 2,116 2,388 4,504 |fEh4 222 234 456
=53 1,015 1,275 2,290 |fE#h5 157 171 328
=54 1,441 1,757 3,198 |fE#h6 68 76 144
= B S 5,042 5,955 10,997 |{&EH#n7 28 50 78
HE1 1,028 1,150 2,178 |fEi#h8 417 471 888
T2 1,891 2,207 4,098 |fEho 81 100 181
SE3 1,121 1,269 2,390 |#8 b Ef 2,129 2,453 4,582
S84 1,485 1,749 3,234 |FER 1 570 684 1,254
= 0 5,525 6,375 11,900 |PaJER 2 214 240 454
11 2,898 2,767 5,665 |FIER 3 33 49 82
)i2 1,878 2,073 3,951 |fIEE 4 175 231 406
113 1,838 2,137 3,975 |FIE5 76 74 150
E OO 6,614 6,977 13,591 |6 55 58 113
A 1,616 1,847 3,463 |BAIER 7 42 53 95
RiE2 1,403 1,612 3,015 |B[R 8 282 327 609
K3 2,098 2,230 4328 |BIEE9 109 91 200
H m g 5117 5689 [ 10,806 |FAIEE10 184 243 427
i) 880 963 1,843 |BAIEE 11 71 87 158
f&) =1 880 963 1,843 |BE 12 93 128 221
Fhix ] 1,021 1,100 2,121 |13 26 39 65
& 8% 7 & 1,021 1,100 2,121 |BIEE14 79 103 182
Z2HE 504 579 1,083 |FIER 15 28 39 67
% H 5 & 504 579 1,083 |B] = &t 2,037 2,446 4,483
iE—EA 686 782 1,468 | & | 74267 83,097 157,364
ME—52 232 235 467
ME_BE 918 1,017 1,935




